5. PBB{#EAXR

BRiR fnZestt PBB{#E A
=20 JALG )L—T 85%
=0 ANAS JL—T 64%
Jt il JALY JIL—T 72%
B[R RE—0514¥— 95%
12T JALY JIL—T 98%
13 [ ANAS JL—T 98%
15 [ RE—0514Y¥— 72%
12 [ AHAR—4 90%
EiG JALY JIL—T 82%
K& ANAS JL—T 96%
Ei& YSURIT 87%
BEXR JALY JIL—T 98%
HER ANAY )L—T 88%
HEAR YSYREIF 83%
PN JALY JIL—T 90%
PN ANAS IL—T 82%
PN YSLRIT 89%
= I8 JALY JL—T 53%
=I5 ANAY )L—T 79%
= 1% YSLREIT 85%
BRE JALY JIL—T 96%
ERE ANAS JL—T 93%
BERE AHhL4<—4 83%
ERE YSLREIT 91%
B JALY JIL—T 100%
B ER ANAS IL—T 95%
B AHA<—4 91%
=5 JALY JIL—T 100%
= ANAY )L—T 95%
HaiE JALY JIL—T 100%
HAiE ANAY )L—T 93%

[30£1A]
OP\E=H
BRER izt PBB{F A%
23 Al JALT IL—T 93%
2 it Al 93%
HBJII JALY JIL—T 98%
B 85%
Il % JALY JIL—T 61%
IR ANAG L—F 76%
Il 2% 53%
wlh JALY JL—T 87%
wIh 58%
T JALY JL—T 100%
TR ANAY )L—T 97%
T 85%
TR AHhL4<—4 99%
EKEE JALY IL—T 75%
BREE ANAY )L—T 76%
EKEE 78%
U E JALY JIL—T 97%
=] ANAG JL—F 85%
IR JALY JIL—T 88%
RN ANAG JL—F 92%
FEp JALY JIL—T 99%
hEp ANAS JL—T 60%
F51 JALY JIL—T 100%
#1 ANAG JL—F 100%
£kt JALY JIL—T 98%
ESFit] ANAS JL—F 86%
£kt RA—T54¥— 59%
#HE ANAST JL—F 95%
#HE AHhL4<—4 95%
i Ly JALY JL—T 93%
] L ANAY )L—T 82%
LE JALT IL—F 91%
N=) ANAY )L—T 74%
O &R JALY JL—T 65%
=T ANAY )L—T 83%
WAFEE | R2—I54v— 81%
= JALY JIL—T 85%
=2 ANAZ JL—TF 81%
me JALY JIL—T 98%
mE ANAZ JL—TF 48%
ALl JALY JIL—T 84%
NN ANAG JL—F 96%

O FHmEE
BRiR fnZEstt PBB{#FHZE
HH JALT )IL—T 100%
FH ANAG L—F 99%
FH AIRDO 100%
FHA AHAR—4 100%
ZE B JALY IL—T 74%
25 Al ANAG JL—F 57%
& JALY IL—T 77%
a5 ANAST JIL—TF 65%
U E JALY IL—T 75%
#HE ANAG JL—F 55%
= JALY IL—T 85%
= ANAG L—F 91%
= AIRDO 100%
= Peach* Aviation 88%
i JALY IL—T 57%
s ANAS JL—T 77%
[ JALY IL—T 100%
5] ANAS JL—T 100%
B H STypRE— TRy 98%
5] IN=5:ITF 97%
[ EMmER R 100%
FE JALY JL—T 100%
FE ANAY )L—T 92%
hEp AIRDO 99%
FEp SIyRRA— TR 92%
hEp IFFOT - TxINy 95%
&R AHA<—4 73%
F JALY JL—T 100%
F51 ANAY )L—T 100%
[ESEi] JALY JL—T 100%
£kt ANAY )L—T 99%
E3lid] Peach* Aviation 99%
£kt TR RE— Ty 70%
#HE ANAST JL—T 98%
#HE AIRDO 77%
#HE 24— 83%
N=) JALY IL—T 100%
LB ANAZT JL—TF 100%
12T JALY JIL—T 100%
& fif ANAG JL—F 100%
£ [ Peach* Aviation 98%
& [if] AHLR—Y 50%




O z=E

OEMZE;
B fnZE=4t | PBBEAZE)
HHA JALT )IL—T 100%
FH ANAG JL—F 100%
OfEEZTE
R fZEstt |PBBEFAE)
FHA JALT IL—TF 100%
FH ANAG )L—T 100%
Odb A Z=
B fnZE=4t | PBBEAZE)
HHA JALT )IL—T 100%
FHA RE—=D054¥— 100%
OMLZEE
BB R R PBBERE
HH JALG JL—T 100%
FH ANAY )L—T 100%
F T JALY JL—T 100%
F51 ANAY )L—T 94%
O=HZEH
FH JALY IL—T 100%
FH ANAY )L—T 100%

OfI gz &
BRiR fnZEstt PBB{#FHZE
HHA JALT IL—T 100%
FH ANAG L—F 100%
FH AIRDO 100%
OHEEZEE
iR st PBB{#HE
FH JALT )L—T 100%
FH ANAG JL—F 100%
FH AIRDO 100%
F51 JALY )L—T 100%
#1 ANAG )L—T 100%
O#imZei&
# fnZestt PBB{#ERE
TR JALY IL—T 100%
#51 JALY JIL—T 100%
F51 ANAY )L—T 100%
FF FARYGIRITSAVR 99%
12T ANAY )L—T 100%
12 [ 7Y N )=LIFF{VR 100%
O/ ZE}
BB R fnZEsit PBB{#EE
HH JALT IL—T 100%
FH ANAY )L—T 100%
OLEZE
B fZE 4t PBB{F A%
HHA JALT )IL—T 100%
FH ANAG JL—F 100%
TR JALY JIL—T 100%
T ANAS JL—T 100%

BRiR fnZEstt PBB{#FHZE
HH JALZIL—T | 100% |
FH ANAG L—F 100%
FH ARA—D51Y— 82%
F1H ABhA4<—7 97%
TR JALY JIL—T 98%
T ANAS JL—T 88%
B s Peach - Aviation 58%
T AHAR—4 61%
= JALY JIL—T 91%
& ANAG )L—T 63%
b ANAG )L—T 80%
s 7Y NY=LI7IAVR 100%
[ JALY IL—T 3%
o] ANAG JL—T 86%
oA Peach - Aviation 61%
BH Sk RA—- DRy 79%
FE ANAY )L—T 78%
FE RE—=D054¥— 86%
& DrybRE— TRy 89%
#1 JALY IL—T 45%
F51 ANAY )L—T 93%
E3pit] ANAG )L—T 6%
E3Fit] Peach - Aviation 47%
E5kit] STYRRE— T 51%
=% JALY IL—T 78%
=% ANAG L—F 25%
B JALY IL—T 98%
B ER ANAG )L—T 80%
ARER Peach - Aviation 54%
B ER AHLR—Y 54%




OX 52}

O FZE;

BRiR fnZEstt PBB{#FHZE
HHA JALT )IL—T 100%
FH ANAG JL—F 98%
JF1H ABMA=<—7 91%
5] ANAS JL—T 97%
BH STypRE— TRy 67%
5] IN=F-ITF 0%
FE JALY JIL—T 90%
g ANAG JL—F 52%
FE STykRA— S8y 94%
FE ANAT—Y 83%
FE YSLRIT 97%
FF1 JALZ IL—T 99%
F51 ANAY )L—T 100%
ESFit] JALZ IL—T 72%
£kt ANAY )L—T 77%
E3lif] Peach* Aviation 0%
E5kit] STykRE— SRy 87%
#HE ANhL4<—4 75%
#HE YSURIT 83%
2 JALY JIL—T 97%
12T ANAY )L—T 83%
12 [ Peach* Aviation 0%
120E AHhL4<—4 62%
=h JALZ IL—T 93%
== ANAY )L—T 80%

HAiE JALY IL—T 96%

HAiE ANAY )L—T 85%

Hais YSYREIY 81%

BRiR fnZestt PBB{#E A
HHA JALT IL—T 100%
FH ANAG L—F 100%
FH YSURITF 100%
#1 JALY IL—T 76%
F51 ANAY )L—T 100%
FF FARYIRIT AR 68%
ORIBZ#H
ERHR finZEstt PBB{# A |
HH JALT IL—T 100%
FH ANAY )L—T 100%
FHA YSVREIF 100%
F51 JALY JIL—T 100%
#1 ANAS JL—F 100%
ORERZE
ERHR finZE it PBB{# A |
HH JALG JL—T 100%
FH ANAY )L—T 100%
FHA YSLEIT 100%
F51 JALY IL—T 97%
#1 ANAS JL—F 99%
(OF=15e:5
ERHR finZE it PBB{# A |
HH JALT IL—T 100%
FH ANAY )L—T 100%
FHA YSLEIT 100%
F51 JALY JIL—T 100%
F1 ANAG JL—F 98%
12T JALY JIL—T 100%
12 ANAG JL—F 100%
B/E  RFIToaELTTIUvY 98%
OCEREZHE
BRiR fnZEstt PBB{#FHZE
HHA JALT )IL—T 100%
FH ANAG JL—F 100%
JF1H ABM1=<—7 88%
FHA YSUREIF 100%
FEB ANAY )L—T 100%
=1 CIYbRE— TRy 88%
F5 JALY IL—T 100%
FFT ANAG JL—F 99%




[30&2A]

BRAR ZTESt PBBf§ A
A L ANAG )L—T 949,
= JALG IL—T 92%
S0 ANAS JL—T 65%
Jb L JALY IL—T 89%
Jt fu o AB—TS5A4 ¥ — 95%
12E JALG IL—T 100%
12 ANAY JL—T 100%
12E RAB—T5(4¥— 73%
12 AHA<R—4H 91%
RIG JALG IL—T 95%
RI& ANAY JL—T 96%
RIG YSVRIT 87%
BER JALG IL—T 99%
BER ANAG JL—T 80%
BER YSURIT 81%
) JALY )L—T 99%
R ANAY JL—T 68%
PN YSLRITF 88%
= JALG IL—T 63%
= ANAG JL—T 75%
= YSURIT 86%
BERE JALG IL—T 99%
BRE ANAS JL—T 71%
BERE AHhA4R—4 87%
BERE YSURIT 86%
i JALY )L—T 100%
#BER ANAY JL—T 96%
i AHA<—4 90%
== JALG IL—T 100%
== ANAG JL—T 63%
HAE JALG IL—T 100%
HAiE ANAG IL—T 89%

OFHZEE
SR =S PBB{FEAE
25 Al JALG)L—T 99%
25 Al AIRDO 86%
TEJI JALY )L—F 100%
HBJI| AIRDO 92%
FEE JALY )L—F 47%
HIIER ANAG JL—T 93%
FEE AIRDO 64%
TN JALG IL—T 88%
Wik AIRDO 70%
HTE JALG IL—T 100%
= ANAS JL—T 96%
HTE AIRDO 83%
= AHhA4R—5 98%
EKEE JALY )L—T 67%
EREE ANAY JL—T 64%
EKEE AIRDO 68%
FAH JALY )L—F 97%
N E ANAD )L—T 76%
IR JALY )L—F 86%
IR ANAY JL—T 88%
EB JALG IL—T 98%
e ANAG JL—T 54%
#t JALY )L—F 100%
#t ANAY JL—T 100%
E3kic] JALY )L—F 95%
k] ANAD JL—T 96%
E3kic] RR—=J54 ¥ — 61%
A ANAG JL—T 95%
P AAM1<—5 98%
fif] 1L JALY IL—T 94Y%
] L ANAY JL—T 87%
N=) JALG IL—T 90%
L5 ANAS JL—T 83%
TEE JALY )L—T 81%
L ANAY JL—T 73%
WaxEE | RE—254 v — 80%
= JALY )L—T 96%
[SIN ANAG JL—T 75%
=) JALG IL—T 98%
mE ANAG JL—T 63%
AL JALY )L—F 96%

OMTEZEE

BRHR fnZEst PBB{f =
HH JALG)L—T 100%
TH ANAS JL—T 99Y%
FIHA AIRDO 99%
J1H AB1=<R—Y 99%

2 Al JALY )L—F 59%

25 Al ANAG )L—T 66%
a5 JALY )L—T 77%
& ANAG JL—T 54%
FAH JALY )L—F 77%
A\ E ANAG JL—T 54%
= JALY )L—F 97%
= ANAG JL—T 87%
= AIRDO 99%
= Peach*Aviation 99%
i JALG IL—T 54%
i ANAG JL—T 86%
[pd::] JALY )L—F 100%
B H ANAG JL—T 99%
5] SIyhRA— xR 97%
R H IN=5-I7 99%
FE JALY )L—F 100%
hE ANAG JL—T 93%
EB AIRDO 100%
thEp SIybRE—-TrRy 98%
EB IFFOT -TrI 89%
&R AHA<T—4 69%
#t JALY )L—F 100%
#t ANAY JL—T 100%
E3kic] JALY )L—F 100%
k] ANAG )L—T 100%
E3kic] Peach* Aviation 98%
k] Sk RA—- TR 77%
HE ANAS JL—T 100%
A AIRDO 77%
HE AAM<T—5 84%
N=) JALG IL—T 100%
LB ANAS JL—T 100%
12 JALG IL—T 100%
12 ANAY JL—T 100%
1& [ Peach*Aviation 98%
12 AHA<R—4H 51%




OfEMZ=E

OEME;
BRER S PBB{EAE
HH JALZ)L—T | 100% |
TH ANAS JL—T 100%
OEZEHE
PRER TR s PBB{# fHE
FH JALT )L—T 100%
J1H ANAY JL—T 100%
Odb A Ze i
BRHR fnZEst PBB{f =
HH JALZ)L—T | 100% |
FHA RAB—T5(4¥— 100%
OMILZEH
PRER mZEE1t PBB{f fHE
FHA JALG )L—T 100%
FH ANAY JL—T 100%
F JALY )L—T 100%
#t ANAY JL—T 94%
O=aZiE
S st PBB{f
FIH | JALZIL—T | 100%
FH ANAY )L—T 100%

OflIEgZ= %
BRHR fnZEss PBB{f =
HH JALG )L—T 100%
TH ANAY JL—T 100%
FIHA AIRDO 100%
OHEEZE
BRER izt PBBf§ A&
HH JALG )IL—T 100%
TH ANAY JL—T 100%
FIHA AIRDO 100%
# JALY )L—T 100%
#t ANAY JL—T 100%
O#miazs
S st PBB{f
= JALT )L—T 100%
ik JALY )L—T 100%
#t ANAY JL—T 100%
FF FARYIRITITAVR 99%
12 ANAY JL—T 100%
12 7Y V) =LITFAVA 100%
O/MAZE;}
PRER =N PBB{# fHE
FHA JALG )L—T 100%
FH ANAY JL—T 100%
OLEZEH
BRHR fnZEst PBB{f =
HH JALG )L—T 100%
TH ANAY JL—T 100%
= JALS IL—T 100%
HTE ANAG JL—T 100%

BRHR fnZEst PBB{f =
HH JALG )L—T 100%
TH ANAS JL—T 99Y%
FIHA RE—D754¥— 74%
J1H AB1=<R—Y 98%
FTE JALY IL—T 100%
FTE ANAY JL—T 100%
TS Peach*Aviation 68%
HTE AHhA4R—4 56%
= JALY )L—T 58%
=y ANAY JL—T 69%
i ANAS )L—T 90%
i 7Y FY=LITFAVR 100%
[pd::] JALY )L—T 5%
R H ANAY )L—T 71%
R H Peach* Aviation 57%
o SIubRA— TR 81%
FE ANAY JL—T 73%
Gk AE—I754 % — 95%
g DIy RA— TNy 94%
F JALY )L—T 36%
#t ANAY JL—T 88%
E3kic] ANAY JL—T 5%
E3Fic] Peach* Aviation 67%
E3Fic] STubRA— TRy 48%
= JALG IL—T 80%
=I5 ANAG )L—T 43%
BER JALY )L—T 99%
i1 ANAY JL—T 81%
E: 15 Peach - Aviation 76%
i AHA<T—4 54%




OFRFRZE;

BRHR fnZEst PBB{f =
HH JALG )L—T 100%
TH ANAS JL—T 97%
FIHA AHAR—4H 92%
B H ANAG JL—T 100%
[pd::] SIybRE— TR 72%
R A IN"S-TF 0%
FEB JALG IL—T 94%
FEp ANAY )L—T 63%
FEp STybRA—-Twiy 88%
&R AHA<R—4H 83%
&R YSURIT 91%
F JALG IL—T 100%
#t ANAY JL—T 100%
k] JALY IL—T 66%
E3kic] ANAY JL—T 75%
E3ic] Peach* Aviation 0%
E3ic] SIybRE— s 93%
A AHhA4R—4 74%
P YSVRIT 86%
12 JALY )L—T 98%
12 ANAY JL—T 82%
18 Peach*Aviation 0%
12 AHA<R—4H 63%
== JALY IL—T 96%
== ANAY JL—T 72%
HAaiE JALY )L—T 97%
FAais ANAS JL—T 66%
FAiE YSURIY 85%

OKXRPE;
BRHR fnZEss PBB{f =
HH JALG )L—T 100%
TH ANAY JL—T 100%
FH YSURITF 100%
F JALY )L—T 100%
#t FARYHRIFSAVR 7%
ORIBZE
BRHR fnZEst PBB{f =
HH JALG )L—T 100%
TH ANAY JL—T 100%
FH YSURITF 100%
F JALY )L—T 100%
#t ANAY JL—T 100%
ORERZE
BRHR fnZEst PBB{f =
HH JALG )L—T 100%
TH ANAY JL—T 100%
FH YSURITF 100%
F JALY )L—T 98%
#t ANAY JL—T 100%
O=F xRz E
BRHR fnZEst PBB{f =
HH JALG )L—T 100%
TH ANAY JL—T 100%
FH YSURITF 100%
F JALY )L—T 100%
#t ANAY JL—T 98%
12 JALY )L—T 100%
12 ] ANAY JL—T 98%
12 H) T AT I 98%
OBEREZTH
B R fZEst PBB{f =
FHA JALG )L—T 100%
FH ANAY JL—T 100%
JF1H AB1=<R—Y 88%
FH YSURIF 100%
o ANAG JL—T 100%
=1 SIYRRE— Ty 90%
FF JALY )L—T 100%
#t ANAY JL—T 100%




[30€3A]

B R fnZEst PBB{f =
=0 JALG )L—T 38%
= ANAG JL—T 85%
Jt AL JALY )L—F 93%
4t v AB—T5(4¥— 93%
12 JALY )L—F 100%
12 ANAG JL—T 99%
12 RRA—=J54 ¥ — 73%
12 AHhA4R—4 91%
RI& JALY )L—F 95%
RIG ANAG JL—T 97%
RI& VYSLURIT 86%
BER JALG IL—T 100%
BER ANAS JL—T 84%
HER YSURIF 82%
PN JALY )L—F 95%
) ANAG JL—T 79%
PN VYSLURIT 89%
= JALG IL—T 68%
= ANAS JL—T 70%
=15 YSURIY 84%
ERE JALY )L—F 99%
BERE ANAG JL—T 70%
BERE AHA4<R—5 83%
BERE YSURIY 86%
#BER JALY )L—F 100%
i ANAD JL—T 95%
AR AHIAI—4H 92%
== JALY )L—T 100%
== ANAS JL—T 90%
HAaiE JALG IL—T 100%
FAais ANAS JL—T 90%

OFHZEE
SR =S PBB{FEAE

25 Al JALG)L—T 96%
25 Al AIRDO 93%
TEJI JALY )L—F 96%
HBJI| AIRDO 82%
FEE JALY )L—F 50%
HIIER ANAG JL—T 83%
FEE AIRDO 66%
TN JALG IL—T 81%
G AIRDO 61%
HTE JALG IL—T 100%
= ANAS JL—T 95%
HTE AIRDO 86%
= AHhA4R—5 99%
EKEE JALY )L—T 72%
EREE ANAY JL—T 83%
EKEE AIRDO 75%
FAH JALY )L—F 98%
N E ANAD )L—T 73%
IR JALY )L—F 89%
IR ANAY JL—T 80%
EB JALG IL—T 94%
e ANAG JL—T 60%
#t JALY )L—F 100%
#t ANAY JL—T 100%
E3kic] JALY )L—F 98%
k] ANAD JL—T 94%
E3kic] RR—=J54 ¥ — 60%
A ANAG JL—T 93%
P AAM1<—5 97%
fif] 1L JALY IL—T 96%
] L ANAY JL—T 88%
N=) JALG IL—T 92%
L5 ANAS JL—T 83%
TEE JALY )L—T 77%
L ANAY JL—T 90%
WaxEE | RE—254 v — 81%
= JALY )L—T 95%
[SIN ANAG JL—T 66%
=) JALG IL—T 99%
mE ANAG JL—T 62%
NI JALY )L—F 95%
A L ANAY JL—T 94Y%

OMTEZEE
RS ZTESt PBBf§ A
HH JALG)L—T 100%
TH ANAS JL—T 100%
FIHA AIRDO 100%
J1H AB1=<R—Y 99%
2 Al JALY )L—F 59%
25 Al ANAG )L—T 62%
a5 JALY )L—T 91%
& ANAG JL—T 60%
FAH JALY )L—F 84%
A\ E ANAG JL—T 50%
= JALY )L—F 97%
= ANAG JL—T 90%
= AIRDO 100%
= Peach*Aviation 90%
= FARYHRITSAVR 0%
e JALG IL—T 84%
i ANAS JL—T 87%
B H JALG IL—T 100%
[pd::] ANAY JL—T 100%
5z SIybRE—-TrRy 96%
o] IN=S-IT 98%
ol JALG IL—T 100%
EB ANAS IL—T 95%
ol AIRDO 100%
=T YR RRA— T\ 96%
&R IFT7OT vy 93%
FEB AHA4R—5 74%
F JALG IL—T 100%
#t ANAY JL—T 100%
k] JALY )L—T 99%
E3kic] ANAY JL—T 100%
B Peach*Aviation 99%
E3kic] SIYhRE—- xR 82%
A ANAG JL—T 98%
HE AIRDO 73%
A AHhA4R—4 80%
LB JALY )L—T 100%
=) ANAG JL—T 100%
12 JALY )L—F 100%
12 ANAG IL—T 98%
12 Peach* Aviation 100%
12 AHhA4R—4 56%




OfEMZ=E

OEME;
BRHR fnZEst PBB{f =
HH JALZ)L—T | 100% |
TH ANAS JL—T 100%
OEZEHE
PRER TR s PBB{# fHE
FH JALT )L—T 100%
J1H ANAY JL—T 100%
Odb A Ze i
BRHR fnZEst PBB{f =
HH JALZ)L—T | 100% |
FHA RAB—T5(4¥— 100%
OMLZES
PRER &t PBB{# fHE
FIH JALZ)L—J | 100% |
FH ANAY JL—T 100%
Ff JALY )L—T 100%
#t ANAY JL—T 92%
O=aZiE
BRHR fnZEst PBB{f =
HH JALZ)L—T | 100% |
TH ANAS JL—T 100%

OflIEgZ= %
BRHR fnZEss PBB{f =
HH JALG )L—T 100%
TH ANAY JL—T 100%
FIHA AIRDO 100%
OHEEZE
BRER izt PBBf§ A&
HH JALG )IL—T 100%
TH ANAY JL—T 100%
FIHA AIRDO 100%
FEp AIRDO 100%
F7 JALY )L—T 100%
FFE ANAY JL—T 100%
Oz E
PRER TR s PBB{#EHE
Fem | JALGIIL—T | 100% |
#t JALY )L—F 100%
#t ANAY JL—T 100%
#t FARYHRIFSAVR 99%
120 ANAD JL—T 100%
127l FARYHIRITSAVR 100%
12 79 V) =LITFAVR 100%
O/MAZE;}
PRER TR s PBB{# HE
FHA JALG )L—T 100%
FH ANAY JL—T 100%
OLEZEH
BRHR fnZEst PBB{f =
HH JALG )L—T 100%
TH ANAY JL—T 100%
= JALS IL—T 100%
HTE ANAG JL—T 100%

BRHR fnZEst PBB{f =
FIH JALZ)L—T |  100%
TH ANAS JL—T 98%
FIHA RE—D754¥— 83%
J1H AB1=<R—Y 94%
FTE JALY IL—T 100%
FTE ANAY JL—T 98%
TS Peach*Aviation 75%
HTE AHhA4R—4 78%
= JALY )L—T 66%
=y ANAY JL—T 74%
i ANAS )L—T 74%
i 7Y FY=LITFAVR 95%
[pd::] JALY )L—F 87%
B H ANAG JL—T 74%
o Peach* Aviation 59%
54z SIybRE—- TRy 75%
FE ANAY JL—T 81%
Gk AE—I754 % — 92%
g DIy RA— xRy 85%
#t JALY IL—T 53%
#t ANAY JL—T 85%
E3kic] ANAY JL—T 8%
a7 Peach*Aviation 56%
k] Sk RA—- TR 49%
= 15 JALY IL—T 65%
BER JALY )L—T 99%
BER ANAY JL—T 77%
S Peach - Aviation 62%
S AHAR—4H 56%




OFRFRZE;

BRER S PBB{EAE
HH JALG )L—T 100%
TH ANAS JL—T 96%
FIHA AHAR—4H 91%
B H ANAG JL—T 100%
[pd::] SIybRE— TR 75%
R A IN"S-TF 0%
FEB JALG IL—T 94%
FEp ANAY )L—T 43%
FEp STybRA—-Twiy 97%
&R AHA<R—4H 76%
&R YSURIT 74%
F JALG IL—T 100%
#t ANAY JL—T 90%
k] JALY IL—T 71%
E3kic] ANAY JL—T 61%
E3ic] Peach* Aviation 0%
E3ic] SIybRE— s 93%
A AHhA4R—4 76%
P YSVRIT 63%
12 JALY )L—T 98%
12 ANAY JL—T 88%
18 Peach*Aviation 0%
12 AHA<R—4H 78%
== JALY IL—T 96%
== ANAY JL—T 69%
HAaiE JALY )L—T 88%
FAais ANAS JL—T 82%
FAiE YSURIY 77%

OKXRPE;
BRHR fnZEss PBB{f =
HH JALG )L—T 100%
TH ANAY JL—T 100%
FH YSURITF 100%
#rt JALY IL—T 71%
#t FARYHIRITSAR 85%
ORIBZE
BRHR fnZEst PBB{f =
HH JALG )L—T 100%
TH ANAY JL—T 100%
FH YSURITF 100%
F JALY )L—T 100%
#t ANAY JL—T 100%
ORERZE
BRHR fnZEst PBB{f =
HH JALG )L—T 100%
TH ANAY JL—T 100%
FH YSURITF 100%
F JALY )L—T 99%
#t ANAY JL—T 100%
O=F xRz E
BRHR fnZEst PBB{f =
HH JALG )L—T 100%
TH ANAY JL—T 100%
FH YSURITF 100%
F JALY )L—T 100%
#t ANAY JL—T 96%
12 JALY )L—T 100%
12 ] ANAY JL—T 98%
12 H) T AT I 97%
OBEREZTH
B R fZEst PBB{f =
FHA JALG )L—T 100%
FH ANAY JL—T 100%
JF1H AB1=<R—Y 81%
FH YSURIF 100%
o ANAG JL—T 100%
=1 SIYRRE— Ty 97%
FF JALY )L—T 100%
#t ANAY JL—T 100%




